R YN
ZERE
5 B HE FRE)

= EEL

o

KR ERXIR (k)
REFHBEBED—EZ

WIET DEAGEDIE







FR21EE TKRFHE - FEXEHESRE)
(B EHELTOT S L)

2 E R R

[21K]
=3 Vi EEHH FREEHH
E ir 0 0
NV 0 1
X =
3L 45 6 4
INE 45 65
E i3I — —
_ NIV 0 0
EHIKRE
I 20 33
INE 20 33
E iI 0 2
L N NIV 0 0
= FEMER
I 0 0
INE 0 2
E ir 0 2
it N AL 0 1
I 65 97
=) it 65 100

X REEMECOLTIE, REROBRLESISHE,

- 273 —




(w48 1]

—_—
=
Iﬂl

Ol |(wlfflo] | |O|M||m]O|[O|O||O|O|+|0|fo
AN || N |~ D™
7
%
i
iy
O|O|ffo] | |O|~||—~]O|O|O||O|lO|OC|O|o
— | — — | — AN
7
%
1
B
o1 45 | 4 k[ |t o 4
H| & [EZ|<|H| L@ < | H| Q&)< | H |G
R i
”_.ﬁ
Xl i ﬁ i 4o
= o e
K " i

(v 2]

—_—
=
Iﬂl

olo|ofo] I |o|lo|o|la|o|of|a]|nfo|a|~
(o] (Kol AN | ©
e
#*
i
H#
olo|~[~] I |o|o|o|lo|o|o||o|o|o]|wv]|e
AN (W] (K]
e
#*
=
B
= [ | 4= [l [ 4= |45 (4= ||t |4 (4| 4 ||t |4 [ 4S|4
RS S T RS B BT I RS S [ RS
R i
o
Xl i ﬁ i 4o
= o e
K i i

- 274 —



